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67,36 | 60,33 | 54,46 | 49,43 | 45,07 ; 38,00 | 35,06 | 30,85 | 26,18| 22,48 | 19,53 | 17,50 | 14,00 | 11,43
69,00 | 61,92 | 56,00 | 50,86 | 46,47 | 39,29 | 36,34 | 32,05 | 27,29 | 23,56 | 20,51 | 18,40 | 14,80 | 12,15
70,36 | 63,25 | 57,30 | 52,14 | 47,74 | 40,47 | 37,50 | 33,10 | 28,26 | 24,48 | 21,38 | 19,23 | 15,54 | 12,80
71,64 | 64,50 | 58,46 | 53,29 { 48,80 | 41,53 | 38,50 | 34,05 | 29,15| 25,28 | 22,18 | 19,96 | 16,20 | 13,40
72,73 | 65,58 | 59,46 | 54,29 : 49,80 | 42,47 | 39,45 | 54,90 | 29,95 26,04 | 22,87 | 20,63 | 16,80 | 13,95

73,73 66,50 | 60,46 | 53,21 | 50,74 | 43,495 | 40,28 | 35,65 | 30,71 | 26,76 | 23,56 | 21,23 | 17,34 | 14,48
74,64 67,42 | 61,81 | 56,07 | 51,64 | 44,11 | 40,89 | 36,40 | 31,37, 27,40 | 24,14 | 21,80 | 17,86 | 14,95
75,56 68,25 | 62,08 | 56,86 | 52,34 | 44,88 | 41,78 | 37,05 | 32,00 | 28,00 | 24,72 | 22,36 | §8,34 | 15,40
76,27 69,10 | 62,85 | 57,756 | 54,00 | 45,53 | 42,45 | 37,70 | 32,62 | 28,56 | 25,27 | 22,86 | 168,83 | 15,83
77,00 69,75 | 63,54 | 58,29 | 53,67 46,17 | 43,06 | 38,25 | 33,15 | 29,08 | 25,78 | 23.33 | 19,26 | 16,23

77,73 | 70,42 | 64,23 | 58,93 | 54,34 | 46,82 | 43,67 | 38,85 | 33,69 29,60 | 26,25 | 23,80 | 19,68 | 16,60
78,36 | 71,08 | 64,85 | 59,50 | 54,94 | 47,35 | 44,23 | 39,35 | 34,17 30,08 | 26,72 | 24,23 | 20,06 | 17,98
79,00 | 71,67 | 65,46 | 60,07 | 55,47 | 47,94 | 44,78 | 39,85 | 34,66 | 30,56 | 27,16 | 24,63 | 20,46 | 17,33
79,64 | 72,25 | 66,00 | 60,64 | 56,07 | 48,47 | 45,28 | 40,35 | 35,15 31,00 | 27,60 | 25,03 | 20,83 | 18,68
80,18 | 72,75 | 66,54 | 61,22 | 56,54 | 48,94 | 45,78 | 40,80 | 35,60 31,40 | 28,00 | 25,43 | 21,17 | 16,00

80,73 73,33 | 67,08 | 61,72 | 57,07 | 49,41 | 46,28 | 41,25 | 36,00 31,80 | 28,40 | 25,80 | 21,51 | 18,30
81,91 74,50 | 68,23 | 62,86 | 58,20 ! 50,53 | 47,34 | 42,30 | 36,97! 32,76 | 29,31 | 26,66 | 22,31 | 19,05
83,09 75,67 | 69,31 | 63,30 | 59,27 | 51,59 | 48,39 | 43,256 | 37,91 33,64 | 30,14 | 27,46 | 23,06 | 19,75
84,09 76,67 | 70,31 | 64,93 | 60,20 | 52,53 | 49,28 | 44,10 138,75 34,44 | 30,94 | 28,20 | 23,74 1 20,40
85,09 77,38 | 71,23 | 65,86 | 61,14 | 53,41 | 50,17 | 44,90 | 39,51 35,20 | 31,67 | 28,90 | 24,40 | 21,03

86,00 78,42 | 72,08 | 66,64 | 61,94 | 54,17 | 50,95 | 45,70 | 40,26 | 35,92 | 32,36 | 29,63 | 25,00 | 21,60
86,82 79,25 | 72,93 | 67,50 | 62,74 | 54,94 | 51,73 | 46,40 ; 40,93 | 36,60 , 33,61 | 30,16 | 25,57 | 22,15
87,56 80,00 | 73,69 | 68,22 | 63,47 | 55,70 | 52,45 | 47,05 | 41,60 | 37,24 | 33,63 | 30,76 | 26,14 { 22,68
88,27 80,75 | 74,46 | 68,93 | 64,20 | 56,35 | 53,12 | 47,70 | 42,22 37,84 | 34,25 | 31,30 | 26,66 | 23,18
89,00 81,50 | 75,08 | 69,57 | 64,87 | 57,06 | 53,78 | 48,30 | 42,80 38,40 | 34,80 | 31,86 | 27,17 | 23,65
89,64 82,17 | 65,69 | 70,22 | 65,47 | 57,64 | 54,39 [ 48,90 | 43,87 38,96 | 35,34 | 32,36 | 27,66 { 24,13




CwpncGulmpym b wy. 15-h

R-I\ 0,011 | 0,012 ] 0,013 | 0,014 | 0,015 | 0,017 { 0,018 { 0,020 \ 0,0225 0,025 |0,0275 0,030 | 0,035 ' 0,040
0,957 90,27 82,50 | 76,311 70,86 | 66,07 | 58,23 | 54,90 | 49,45 | 43,91 | 39,48 | 35,85 | 32,86 | 28,11 | 24,58-
1,00 90,91 83,33;} 76,92 | 71,43 | 66,07 | 58,82 | 55,56 | 50,00 | 44,44 40,00 | 36,36 | 33,33 28,57 | 25,00
1,10 92,00 84,33.| 77,92 | 72,36 | 67,54 { 59,64 | 56,34 { 50,75 | 45,15 { 40,72 | 37,05 | 34,00 | 29,20 | 25,60
1,20 93,09 85,33] 78,92 § 73,29 | 68,40 | 60,47 | 57,12 | 51,60 | 45,82 | 41,40 | 37,71 ] 34,63 | 29,79 | 26,18
1,30 94,09 86,25-| 79,77 | 74,07 | 69,14 | 61,17 | 57,78 | 52,15 | 46,48 | 42,04 | 38,32 | 356,23 | 30,34 | 26,70
1,40 95,00 87,08%l 80,62 | 74,86 | 69,87 | 61,88 | 58,45 | 52,75 | 47,06 | 42,64 | 38,91 | 35,76 | 30,86 | 27,20
1,50 95,82 87,83,| 81,38 | 75,57 | 70,64 | 62,53 | 59,06 | 53,35 | 47,60 ) 43,20 | 39,41 36,30 | 31,37 | 27,68
1,60 96,64 88,58 | 82,15 { 76,29 | 71,20 | 63,11 § 59,62 | 53,90 | 48,12 | 43,72 | 39,96 | 36,80 | 31,83 | 28,13
1,70 97,36 89,25 | 82,85 | 76,93 | 71,80 | 63,70 | 60,17 | 24,46 | 48,62 | 44,24 | 40,43 | 37,26 | 32,28 | 28,55
1,80 98,09 89,92 | 83,54 | 77,57 | 72,40 | 64,23 | 60,67 | 54,95 | 49,11 | 44,72 ; 40,91 { 37,70 | 32,71 | 28,95
1,90 98,82 90,58 | 84,15 | 78,14 | 72,94 | 64,76 | 61,17 | 55,40 | 49,55 | 45,20 | 41,34 | 38,13 | 33,11 | 29,35
2,00 99,45 91,17 | 84,77 | 78,72 | 73,47 | 65,29 | 61,67 | 55,85 | 50,00 | 45,64 | 41,78 | 38,56 | 33,51 | 29,73
2,10 100,09 91,75 | 85,31 | 79,22 | 73,94 | 65,76 | 62,12 | 56,30 | 50,39 | 46,04 | 42,18 | 38,96 | 33,88 | 30,08
2,20 100,73 92,33 | 85,92 | 79,79 | 74,47 | 66,23 | 62,56 | 56,70 | 50,79 | 46,48 | 42,58 { 39,33 | 34,26 | 30,45
2,30 101,27 92,83 | 86,46 | 80,29 | 74,94 | 66,64 | 62,95 | 57,15 | 51,19 | 46,84 | 42,94 | 39,70 | 34,60 | 30,78
2,40 101,91 93,42 | 86,92 | 80,72 | 75,34 | 67,05 | 63,34 | 57,50 | 51,55 [ 47,24 | 43,30 | 40,06 | 34,94 | 31,13
2,50 102,45 93,72 | 87,46 | 81,32 | 75,80 | 67,47 | 63,73 | 657,90 | 51,91 | 47,60 | 43,67 | 40,40 | 35,18 | 31,43
2,60 102,91 94,33 | 87,93 ; 81,64 | 76,20 | 67,88 | 64,12 | 58,25 | 52,26 | 47,96 | 44,03 | 40,73 ; 35,60 | 31,76
2,70 103,36 94,75 | 88,38 ! 82,07 | 76,60 | 68,29 | 64,51 | 58,60 | 52,62 | 48,32 | 44,36 | 41,06 | 35,91 | 32,05
2,80 103,91 95,26 | 88,85 | 82,50 | 77,00 | 68,64 | 64,84 | 58,95 | 52,93 ! 48,64 | 44,69 | 41,36 ] 36,20 | 32,35
2,90 104,36 { 95,67 ) 89,23 | 82,86 | 77,34 | 69,00 | 65,17 | 59,30 | 53,24 | 47,96 ; 44,98 | 41,70 | 36,456 | 32,60
3,00 104,82 96,08 | 89,69 | 83,29 | 77,74 | 69,35 | 65,51 | 59,60 | 53,55 | 49,28 | 45,30 | 42,00 | 36,70 | 32,80
3,20 105,73 96,92 { 90,54 | 84,07 ; 78,47 ; 70,05 | 66,17 | 60,25 | 54,17 | 49,88 | 45,80 | 42,56 | 37,00 | 33,00
3,40 106,55 97,67 | 91,23 | 84,72 | 79,07 | 70,64 | 66,73 | 60,80 | 54,71 | 50,40 | 46,10 | 42,80 | 37,30 | 33,20
3,60 107,36 98,42 | 92,00 | 85,43 | 79,74 | 71,29 | 67,34 | 61,35 | 55,21 | 50,70 ; 46,50 | 43,15 | 37,60 | 33,45
3,80 108,09 99,08 | 92,69 | 86,07 | 80,34 | 71,88 { 67,89 ! 61,90 | 55,77 | 51,00 | 46,90 | 43,50 | 37,90 | 33,70
4,00 108,82 99,75 | 93,38 | 86,72 | 80,94 | 72,41 | 68,39 | 62,40 | 56,26 | 51,30 | 47,20 | 43,75 | 38,10 ) 33,90
4,20 109,556 100,42 94,00 | 87,29 | 81,47 | 72,94 | 68,89 | 62,90 { 56,71 { 51,66 | 47,50 | 44,00 | 38,30 | 34,15
4,40 110,18 101,00 94,62 | 87,86 | 82,00 | 73,47 | 69,39 | 63,40 | 57,15 | 51,80 | 47,70 | 44,20 & 38,45 | 34,35
4,60 110,82 101,58! 95,23 | 88,43 ! 82,54 | 73,94 | 69,83 | 63,85 | 57,569 | 52,00 | 47,90 | 44,50 | 38,60 | 34,45
4,80 111,45 102,17} 95,85 | 89,00 | 83,07 | 74,41 { 70,28 | 64,25 | 58,04 | 52,25 | 48,10 | 44,70 | 38,70 | 34,55
5,00 112,09 | 102,75] 96,38 | 89,50 | 83,54 | 74,88 | 70,73 | 64.70 | 58,44 | 52,50 | 48,30 | 44,90 | 38,80 | 34.65
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Lnjniumy 17

fwrmly ypuwsm| grupwuhh A(h/’HU). doGhghuh wrdbfGbrp h/H
k p/H swrpbr mrdbfGbrh ghofnol, pus 4. &. @nfifwmgyubh.

AM/H) - A (h/H)

8 o) o - 8 e -
=|= I [ I i |=l= i I [ |

z | T (& |E s = = <

f& o = o = a, =9 .

—

0,10 32,00 532,10 !32,30 f32,70 0,70 | 1,200 | 1,228 | 1,252 | 1,365
0,20 |30,92 (10,98 |11,02 (11,33 | 0,75 | 1,020 | 1,050 | 1,068 | 1,170
0,30 | 5,68 | 5,73 | 5,78 | 6,01 [ 0,80 | 0,857 | 0,885 | 0,903 | 0,985
0,40 | 3,50 | 3,55 | 3,50 | 3,77 | 0,85 | 0,712 | 0,738 | 0,753 | "0,835
0,50 | 2,36 | 2,40 | 2,43 | 2,59 | 0,80 | 0,572 | 0,594 | 0,807 | 0,675
0,60 | 1,69 | 1,73 | 1,76 1,89 | 0,95 | 0,418 | 0,434 | 0,444 | 0,498

- Unocuwmy 18

FordGuljmé grndphing srapuhh uniqmdmpyub gnedwmihgthrh
a b A(h{H) a’“LmISI‘“‘.‘l‘ wrdbfGbrp h/H, hwrmpbroopiub
swrpbr mrdbfBbrh gbufocd, pus 4. 4. @nflwyyabh.

h A (h/Hp) h A (h/H,) fin A (h/H,)
— o — z — o

H, 1 H, ' 0 H, o’
0,00 | 1,000 o0 0,50 | 0,972 | 2,750 | 0,85 |0,7 | 0,884
0,10 | 0,998 | 31,50 | 0,60 | 0,850 | 2,040 | 0,90 | 0.59 | 0.691
0,20 | 0,996 | 11,15 | 0,70 | 0,880 | 1,518 | 0,95 | 0,41 | 0,443
0,30 | 0,991 8,03 | 0,75 | 0,850 | 1.308 | 1,00 0 0
0,40 | 0,983 3,88 | 0,80 | 0,790 | 1,104

170

Unui;fuﬁl qnp&m‘ll[lgl_! luu[uull utmmn;[ z_luupmn[u[r Al s p

s.=105 (1402 W&

&
'imlmi[r'i: vl w'h q.hq'gnuf 2[:;::[?:":[![' &lgfl qnp&mll[ugg Rl fr wervres
A f kg wli mpmqnﬂlm.ftilhpg

m.w}0405+w-—003——][l+°55( )(EIE)]

(Runbip pufiudl)s

l],lunLul.ul] 1%

U.rmgmppub gnrdwlgh wrdbfGhep luqﬁ sl fm
grmpuuln[n hufwr pus ‘b, U, Moadpajulm

-Qrme;l'l" kil pp puncfugbpp ¢
\
1. Sbuwlluﬁ: um‘;JmiJWJflir ’!b"lPEJ filvp llnlmt_uln'bklv l&uﬁ: 1,00_
o, | Spuwpud dorwph dush Swminncy ginpwd quf b ghoend| 0,95
3. Ynporgfucd dnringny gk ph ghugned -0,92
4, | RARugjus dncmpp whhuss ghopmd 0,88
5. Bty fnpugdwh dnempny ghilp 0,§5 '
5. Vnssing fmpuegduts Ancing, mpnepapts duor vy g duiblpnd 0,80




LG skl Froaj srmpumpp k i m, qnrdubhgGhrp s 9-bg L k-hy
—
h=1,00 | a=1,95 | 11,50 A=12,00 | A=3,00 | x3,00
@ —
k Jmo k [ my |k m, k m, k l m, k m,

|

0,70’0,5350,216 0,517,0,251

f

0,72 552 | 290 | 534 | 263 | 506
0,74) 572 | 307 | 552 | 276 | 540
(‘1,76; 592 | 320 | 568 | 288 | 557
0,78:' 612 | 340 | 584 | 300 | 570
0,80’ 632 | 355 | 600 | 313 | ag
0,82 655 | 375 | 617 | 327 | 602
0,81 676 | 395 | 635 | 341 | g15
o,éel 700 1 415 | 650 | 353 | g3
o,ssiﬁ 722 | 435 | 665 | 368 | g4y
0,90! 748 | 458 | gg | g7 | 658
0,92! 775 | 480 ' 697 [ 393 | g72
0,94/ 803 | 510 | 713 | 406 | 683
0,96, 850 | 550 | 729 ) 419 | 698
0,98 — | — 1745 ] 433 | 711
L00l — | — | 760 | 447 | 703
172

257

268

280

291

302

314

325

337

348

360

371

382

393

404

415

517

531

545

959

[ 573

662

673

684

695

250

260

270

281

292

302

313

32y

333

343

353

363

372

381

390

513

527

540

554

567

580

604

627

638

649

669

679

|
0,510 0,245 9,503 ’0,240 0,499 0,237

247
257
267
277
287

297

307

317

326

0,495 [0,284

509 | 244
523 | 954
536 | 264
1549 | 274
561 | 284
573 | 293
685 | 302
597 | 311
608 | 320
619 | 328
629 | 336
639 | 344
649 | 359
658 | 360
667 | 368

Lpymuwl 21

ulfno
GYghwmh wrdbfEbrp V. V. MNujni
H(X) ll:"“".ll':;lu'l[l.uuml'll'lnli iy (i0>0)

A x [ (x)| A
% | Mx) | a % f(x)| 4 * M(x)
: 0,064 | 1,44 !0,856 (0,009
"0 |0,050 | 0,85 1,256 [0,037 | 1,07 (1,693 1'45 0’847 0.009
0,00 [ 6 11,293 (0,040 | 1,08 |1,629 (0,056 s ) s
0,05 [0,050 (0,050 | 0,86 |1, 23 lo 042 | 1709 11573 lo-051 | 148 lo 838 o.008
0,10 10,100 10,051 | 0,87 1,333 19, 10 |1,522 0,045 | 1,47 10,829 0,008
0,88 (1,375 0,046 | 1,10 |1, ;
0,15 ;0,151 0,052 | 0, ' 1 {1,477 (0,041 | 1,48 0,821 |0,008

’ 052 | 0,89 |1,421 (0,051 | 1,11 |t, : 813 [0,008
0,20 {0,203 |0, ’ ' 1,12 (1,436 0,038 | 1,49 0, ’

= 54 1 0,90 (1,472 (0,027 | 1, o ‘0,805 0,038
s e s 1499 0,028 | 1,13 1,308 '0,085 1,50 0,805 10,
0,30 (0,309 (0,056 0,905 |1, 0,030 | 1,14 |1.363 '0,032 | 1,55 0,767 10,034
0,85 10,365 10,059 0,910 11,527 0, 1,15 |1,381 0,00 1,60 10,733 10,030

061 10,915 |1,557 {0,032 } 1, ’ e 703 (0,028

0,40 (0,424 0, ’ ’ 16 {1,301 0,028 | 1,65 0, 0,
64 10,920 |1,589 10,033 | 1,16 11,301 0, o8
0,45 10,485 0,064 0, s 73 0,026 { 1,70 (0,675 |0,025
0,50 0,549 (0,070 10,925 (1,622 10,036 i,:; :,347 0.025 | 1,75 0,650 |0 02t
0,55 |0, 619 0,074 0,030 |1,656 0,038 19 11222 lo 09s | 1,90 07626 lo.021
popel ke uendl ol aiadt bl Il 1,198 (0,022 | 1,85 (0,605 |0,020
0,016 10,940 11,738 [0, ’ * o | 0 10,585 10,019
g’gé g’zgg 0,016 |0,045 |1,752 lo,049 | 1,21 1,177,0,833 :’35 0566 o017
0,63 (0,741 0,017 0,950 1,831 0,054 { 1,22 1’:§gig’019 2,0 10,549 |o.031

» ¥ _ - r
0,64 [0,758 0,017 [0,955 [1,885 0,060 | 1,28 1 o019 | 2,110,518 fo,008

65 10,775 (0,017 [0,960 (1,945 |0,068 | 1,24 (1,117 017 | 2,2 10,490 o, 024
el ’ 65 12,013 (0,079 | 1,25 (1,098 |0, "2 0 466

“en o y 0,970 12,092 0,092 | 1,26 |1, : i
0,67 |0,810 0,01% 0,9 ) 065 (0,016 | 2.4 0,444 (0,020

i T on | 5 12 184 0,113 | 1,27 1, : 194 1
0,68 0,529 (0,019 0,975 |2, 0.016 | 2,5 (0,424 0,019

’ ’ | 2,297 0,145 { 1,28 11,049 |0, 5
0,69 10,848 0,019 10,980 |2,287 0, 310,015 | 2,6 0,405 l0,016

’ ’ l 5 (2,442 0,204 | 1,29 1,03 ’ 359 .
0,70 (0,867 0,020 [0,985 |2, 50 |1.018 ‘0,014 | 2,7 10,389 10,012
0,71 0,887 10,020 (0,990 [2,646 10,354 | 1, Looa loore | 2,8 10,374 lo 014

72 (0,907 [0,021 (0,995 3,000 | oo | 1,31 1, 013 | 2.9 [0,360 0,014
0,7 ! . 00 o0 o0 1,32 0,990 10,01: 0.346 059
0,73 10,928 0,022 (1,0 0,977 |0,013 | 3,0 0,346 |p,

: ! 2,997 10,345 | 1,33 [0, , 204 o
0,74 {0,950 0,022 11,005 |2, ' 4 10,012 | 3,500,294 (0,03
0,750,972 0,024 [1,010 2,652 [0,202 | 1,34 8’222 0.012 | 4,0 10,255 lo_029
0,76 [0,996 0,024 [1,015 (2,450 l0,143 | 1,35 o, o ootz | 4.5 0226 |0 023

‘o7 11 2,307 10,110 | 1,36 |0,940 (0, 208 |0 nax
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